## REQUEST FOR QUOTE (RFQ) FOR INFRASTRUCTURE REPAIRS WORKS AT SILVERBROOKE AND COUNTRY WALK SUBDIVISION ON 03-25-2019 AT 12.00 PM

12.00 1 111						
No	NAME OF CONTRACTOR	BID AMOUNT	REMARKS			
1	ARDITO CONSTRUCTION	\$ 14,846.00				
2	INTERNATIONAL BUSINESS SOLUTION GROUP	\$ 13,360.00	RECOMMENDED FOR THE AWARD OF THIS WORK			
3	QUALITY CRAFTSMAN CONSTRUCTION		NO RESPONSE			
4	DAF CONCRETE INC.		NO RESPONSE			
		Topography (1997)				

#### SCOPE OD WORK

The City of Powder Springs, Georgia is seeking your quote for infrastructure repair work at multiple locations at Silver Brooke and Country Walk Subdivision.

The scope of works includes the following:

#### PART I

Remove and replace existing sidewalk near address as shown:

- 1- 1300 Silver Brooke Crossing (+/-25 feet x width of existing sidewalk)
- 2- 1418 Silver Brooke Drive (+/-5 feet x width of existing sidewalk)

#### PART II

Remove and replace existing sidewalk to the grade of cable box

- 1- 1204 Silver Crest Court (+/-15 x width of existing sidewalk)
- 2- 1218 Silver Crest Court (+/-15 x width of existing sidewalk)

#### **PART III**

Remove and replace reinforced concrete catch basin top and sidewalk

- 1- Silver Brooke Crossing, near south entrance of the Cub House (+/-25x Width of existing sidewalk)
- 2- 3249 Country Walk Drive (+/-25x Width of existing sidewalk)

The work must comply with Georgia Department of Transportation's construction standard and specification, page numbers 1033 D and 1034 D of construction drawings details, Georgia Department of Transportation's standard and specification section 441 for Miscellaneous concrete (sidewalk), other local, state and federal specifications and standards which should include the following:

- BMP's for erosion control and sedimentation
- Traffic Control

## **Ardito Construction Company Inc.**

## 1290 Austell Road, SE Marietta, GA 30008

ARDITO CONSTRUCTION COMPANY SIC.

DECINION OF MARKY SI

chuck.ardito@arditoconstruction.com

## **Estimate**

Date	Estimate #		
3/25/2019	584		

Name / Address	Project
City of Powder Springs 3006 Springs Industrial Dr. Powder Springs, Ga. 30127	Infrastructure Repair Work

Description	Qty	Unit	Unit Price	Total
Part II			. [	
1204 Silver Crest Court				
Remove and Replace Existing Sidewalk to the Grade of Cable Box				4 4 9 9
- Asphalt/ Concrete Saw Cut		L.F.	2.00	16.00
- Haul Off (Concrete)	1.25	C.Y.	25.00	31.25
- Traffic Control	1	EA	250.00	250.00
- Contractor's Hourly Rate	2.5	Hrs.	250.00	625.00
NOTE:				
1. Excavate and Remove Existing Sidewalk.			1	
2. Compaction and Grading Complete.		!		
3. Permanent Grassing				
4. "Short Load" Concrete Fee				
- Sidewalk 4 inches Thick	60	S.F.	7.95	477.00
***				
1218 Silver Crest Court			ļ	
Remove and Replace Existing Sidewalk to the Grade of Cable Box		ļ		
- Asphalt/ Concrete Saw Cut	8	L.F.	2.00	16.00
- Haul Off (Concrete)	1.25	C.Y.	25.00	31.25
- Traffic Control	1	EA	250.00	250.00
- Contractor's Hourly Rate	2.5	Hrs.	250.00	625.00
NOTE:		ļ		
1. Excavate and Remove Existing Sidewalk.		1		
2. Compaction and Grading Complete.	1		1	
3. Permanent Grassing				
4. "Short Load" Concrete Fee				
- Sidewalk 4 inches Thick	60	S.F.	7.95	477.00
Part II Total:			''-"	2,798.50
Fait it total.		1	1	2,77 2.00
			1	
		l		
	<u> </u>	<u> </u>	<u>                                     </u>	
Please Call Me If You Have Any Questions Or Concerns:(678) 618-02	240		Tatal.	

**Estimate Total:** 

## **Ardito Construction Company Inc.**

### 1290 Austell Road, SE Marietta, GA 30008

ARDITO CONSTRUCTION COMPANY INC.

CHECKEGO UPROY CONSTRUCTOR

E-mail: chuck.ardito@arc

chuck.ardito@arditoconstruction.com

## **Estimate**

Date	Estimate #		
3/25/2019	584		

Name / Address	Project			
City of Powder Springs 3006 Springs Industrial Dr. Powder Springs, Ga. 30127	Infrastructure Repair Work			

Description	Qty	Unit	Unit Price	Total
Infrastructure Repair Work				
Silverbrooke and Country Walk Subdivision				
Part I				
1300 Silverbrooke Crossing				
Remove and Replace Existing Sidewalk		1	2.00	16.00
- Asphalt/ Concrete Saw Cut	l l	L.F.	2.00	16.00
- Haul Off (Concrete)	2		25.00	50.00
- Traffic Control		EA	250.00	250.00
- Contractor's Hourly Rate	3	Hrs.	250.00	750.00
NOTE:				
1. Excavate and Remove Existing Sidewalk.			·	
2. Compaction and Grading Complete.				
3. Permanent Grassing				
4. "Short Load" Concrete Fee	100	0.5	7.05	795.00
- Sidewalk 4 inches Thick	100	S.F.	7.95	793.00
1418/ 1124 Silverbrooke Drive				
Remove and Replace Existing Sidewalk		l		
- Asphalt/ Concrete Saw Cut		L.F.	2.00	16.00
- Haul Off (Concrete)	1.5	C.Y.	25.00	37.50
- Traffic Control	1	EA	250.00	250.00
- Contractor's Hourly Rate	2.5	Hrs.	250.00	625.00
NOTE:			1	
1. Excavate and Remove Existing Sidewalk.	1			
2. Compaction and Grading Complete.				
3. Permanent Grassing				
4. "Short Load" Concrete Fee			11	
- Sidewalk 4 inches Thick	72	S.F.	7.95	572.40
Part I Total:				3,361.90
Please Call Me If You Have Any Questions Or Concerns:(678	3) 618-0240	limato	Total	

**Estimate Total:** 

# ARDITO CONSTRUCTION ROMPANY INC. GENERAL TRAINY CONSTRUCTION E-mail: 770-435-3776 Chuck.ardito@arc

## **Ardito Construction Company Inc.**

## 1290 Austell Road, SE Marietta, GA 30008

chuck.ardito@arditoconstruction.com

## **Estimate**

Date	Estimate #		
3/25/2019	584		

Name / Address	Project
City of Powder Springs 3006 Springs Industrial Dr. Powder Springs, Ga. 30127	Infrastructure Repair Work

Description	Qty	Unit	Unit Price	Total
Part III				•
Silverbrooke Crossing Near South Entrance				
Remove and Replace Reinforced Concrete Catch Basin Top and			1	
Sidewalk.			\	
- Asphalt/ Concrete Saw Cut		L.F.	2.00	16.00
- Haul Off (Concrete)	2	C.Y.	25.00	50.00
- Traffic Control	1	EA	250.00	250.00
- Contractor's Hourly Rate	] 3	Hrs.	250.00	750.00
NOTE:				
1. Excavate and Remove Existing Sidewalk.				
2. Compaction and Grading Complete.		}		
3. Permanent Grassing				
4. "Short Load" Concrete Fee			1	
- Sidewalk 4 inches Thick		S.F.	7.95	858.60
- 1034D Catch Basin Top Replacement	1	EA	2,450.00	2,450.00
3249 Country Walk Drive	:			
Remove and Replace Reinforced Concrete Catch Basin Top and	1	1		
Sidewalk.				
- Asphalt/ Concrete Saw Cut	_	L.F.	2.00	16.00
- Haul Off (Concrete)	2		25.00	50.00
- Traffic Control	1	EA	250.00	250.00
- Contractor's Hourly Rate	3	Hrs.	250.00	750.00
NOTE:			i I	
1. Excavate and Remove Existing Sidewalk.		Į		
Compaction and Grading Complete.		Ì		
3. Permanent Grassing			1	
4. "Short Load" Concrete Fee				
- Sidewalk 4 inches Thick		S.F.	7.95	795.00
- 1034D Catch Basin Top Replacement	1	EA	2,450.00	2,450.00
Part III Total:				8,685.60
Please Call Me If You Have Any Questions Or Concerns:(678) 618-02	240	 	T	
	Es	timate	Total:	\$14,846.00

## IBSG

## International Business Solutions (IBS) Groups LLC

1145 Montclair Way Snellville, GA 30078

March 24th, 2019

#### RE: Storm water infrastructure repair works

Dear Mr. Michael Asiedu,

As per your email of March 13<sup>th</sup>, 2019, our lump sum Quotation for the entire project is \$13,360. The quote is based on the following work order stipulated in the Request for Quotation:

#### PART I

Remove and replace existing sidewalk near address as shown:

- 1- 1300 Silver Brooke Crossing (+/-25 feet x width of existing sidewalk)
- 2- 1418 Silver Brooke Drive (+/-5 feet x width of existing sidewalk)

#### PART II

Remove and replace existing sidewalk to the grade of cable box

- 1- 1204 Silver Crest Court (+/-15 x width of existing sidewalk)
- 2- 1218 Silver Crest Court (+/-15 x width of existing sidewalk)

#### PART III

Remove and replace reinforced concrete catch basin top and sidewalk

- 1- Silver Brooke Crossing, near south entrance of the Cub House (+/-25x Width of existing sidewalk)
- 2- 3249 Country Walk Drive (+/-25x Width of existing sidewalk)

The quote includes all traffic controls, BMPs and restoration activities. It is also based on the work being done to the standards listed in the RFQ.

Please let me know of any additional information you may need. You may email me or contact me at 404-642-1252.

Sincerely

Robert A, Baffour, PhD

James

President/CEO

Address: 1145 Montclair Way, Snellville, GA 30078: Phone: 404-642-1252: email: ibsgroup2004@gmail.com